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1. What are the significances of a
practical approach to sugarcane
production known as 'Sustainable
Sugarcane Initiative™?

: 3

Seed cost is very low in this
compared to the conventional
method of cultivation.

Drip irrigation can be practiced

very effectively in this,

There is no application of
chemical/inorganic fertilizers
at all in this.

The scope for intercropping
is more in this compared to
the conventional method of
cultivation,

Select the correct answer using the
code given below.

(a)
(b)
fc}
(d)

(7

1 and 3 only
1, 2 and 4 only
2,3and 4 onl:,rp'

WS

and4

a’* wetland of international

lmportancc is brought under the
‘Montreux Record’,

what does it

imply?

{a)

(b}

Changes in ecological character
have occurred, are occurring
or are likely to occur in the
wetland as a result of human
interference

The country in .which the
wetland is located should
enact a law to prohibit any
human activity within five
kilometres from the edge of the
wetland

B-FVS-N-IVUA/S8A

-

[c} The survival of the wctland

depends on the cultural
practices and traditions of
certain communities living in
its vicinity and therefore the
cultural  diversity therein

should not be destroyed

(d) It is given the status of ‘World

Heritage Site’

3. Which one of the following pairs
of islands is separated from each
other by the ‘Ten Degree Channel”?

{a) Andaman and Nicobar

(b} Nicobar and Sumatra
{c} Maldives and Laksha“hw}g;\
{d} SumaQand\Jm

WA

4. Consider the following pairs :

K\@\“ \Progmmme/ Project

1. Drought-Prone
Arca Programme

2. Desert Development
Programme

3. National Watershed

Development Project
for Rainfed Areas

Ministry

Ministry of
Agriculture

: -+ Ministry of

Environment
and Forests
Ministry

of Rural
Development

Which of the above pairs is/are

correctly matched?

(a) 1 and 2 only
(b} 3 only

{c 1,2and 3
{d) None
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R R m e w wm W Iw
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(c) TR W T WA FER M-I

W A FRR wER @ wenh
wonadt aur qouel W sl @ ek

Wi IE o H uiEhe
fafvm = 72 7 fea s wnfig

(d) @ ‘fag e w@' A AR wE
AR

3. foftfn 2ui & gl & A dh-w @
T N Femnl gm 99E § guE fRn
et /7

(a) ¥=nm @ AFEr
(b) TR @ gam
{c) TEEE @ qEET

(@) mwm @(\
\l -

H@n-yau : B ey
A FdEe

2. wowd faem . qafa vd @
FIwH HATeY

3. wuiyfw &5 ¥ : aniw Rew
TR @O WAl
fererra wiedterm

w o i A FR-w/A T g
/e

fa) ¥am 1 3R 2
(b) ¥a@ 3
@ 1,233
fd) ¥t
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6. With reference to 'Ginbal

5. With reference to Bombay Natural

History Society (BNHS), consider
the following statements :

1. It is an autonomous organiza-
tion under the Ministry of
Environment and Forests.

2. It strives to conserve nature
through action-based research,
education and public
awareness.

3. It organizes and conducts
nature trails and camps for the
~ general public.

Which of the statements given
above is/are correct?

fa) 1 and 3 only
(b) 2 only

{¢) 2 and 3 only
(d 1,2 and 3

ment  Facilityt, which {;F
foHuwmg stntemcnts is/dre correct?

a,l ltﬁ senres as  financial

on Biclogical Diversity’ and
‘United Nations Framework
Convention on Climate
Change’

\( aa\ \“‘mcchamsm for 'Convention

(b) It undertakes scientific
research on environmental
issues at global level

fc) It is an agency under OECD
to facilitate the transfer of
technology and funds to
underdeveloped countries with
specific aim to protect their
environment

(d) Both (a) and (b)

@.\ﬂ

7. With reference to technologies for

solar power production, consider
the following statements :

1. 'Photovoltaics’ is a technology
that generates -clectricity by
direct conversion of light into
clectricity, while ‘Solar Thermal’
is a technology that utilizes
the Sun’s rays to generate heat
which is further used in
clectricity generation process.

2. Photovoltaics generates
Alternating Current (AC), while
Solar Thermal generates Direct
Current (DC).

3. India has manufactur:ng base
for Solar Thermal tcchnﬁ‘ogy,
but not for Fhotovoltmcs\\\ \\

‘Uhlch nr(‘ the@tatemcnts given
above i%/are ect?

{a)” 1 only

{b) 2 and 3 only
{¢g 1,2 and 3
{d} None

8. Consider the following languages :

1. Gujarati
2. Kannada
3. " Telugu

Which of the above has/have been
declared as ‘Classical Language/
Languages’ by the Government?

(a) 1 and 2 only
(b} 3 only

{cJ 2 and 3 only
(dj 1,2and 3

B-FVS-N-IVUA/58A 4
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°§‘!§ﬁﬁ§ CERIER R
fa) awa: ‘

) a2 3 3
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(d) W

8. Prafafea swmoefl w faaw fift
1. TR
2. 3
3. @M
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?

fa) %@ 1 32
(b) F=w 3
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9. Consider the following pairs : 11. With reference to a grouping of

countries known as BRICS,

1. DampaTger : Misoram consider the following statements :

Reserve
2. Gumti Wildlife : Sikkim 1. The First Summit of BRICS was
Sanctuary held in Rio de Janeiro in 2009,
3. Saramati Peak : Nagaland 2. South Africa was the last to

join the BRICS grouping.
Which of the above pairs is/are

correctly matched? Which of the statements given

above isfare correct?
fa) 1 only

fb) 2 and 3 only

fa) 1 only
fc) . 1 and 3 only

(@ 1,2and3 b} 2 only 3 \(\
fc; Both 1 and’é\ \

10. With reference to a conservation

organization called "Wetlands Inter-

fd} Ne thers1’ nor 2
national’, which "of the following % %
statements is/are correct? \

1. It is an mtergo\‘}ernmental 12. Consider the following diseases :
organization lfonnedﬁby the
countﬂ?s\whmhares:gnatoms 1. Diphtheria
to {Ramsap Convcnt:on
Q . 2. Chickenpox
f\\ 2 [t works at the field level
( to develop and mobilize 3. Smallpox
knowledge, .and use the
practical experience to
advocate for better policies. Which of the above diseases

has/have been eradicated in India?
Select the corr .ct answer using the
code given below,

fa) 1 and 2 only

{a) 1 only
3 onl
() 2 only (b} 3 only
{c/ Both | and 2 fcg 1,2and 3
{d) Neither 1 nor 2 (d) None
B-FVS-N-IVUA/58A o
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2. oW W (fediam)
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13. Which of the following phenomena 15. The Radcliffe Committee was
might have influenced the evolution appointed to
of organisms?

{a) solve the problem of minorities

1. Continental drift in India

2. Glacial cycles

(b} give effect to the Independence
Select the correct answer using the Bill
code given below. '

fc) delimit the boundaries
{a] 1 only between India and Pakistan

b) 2 onl
& o (d) enquire into the riots in East
(c/) Both 1 and 2 Bengal

' {(d) Neither 1 nor 2

o
16. Brominated ﬂa.mc\ retard&'nm@
used in mauy\houschuld products
I1ke mattresses\ and upholstery.
Why therc some concern about

14. Other than poaching, what are the
possible reasons for the decline
in the population of Ganges River

Dolphins? . ol
1. Construction of dams \“
barrages on rivcrsﬂ They are highly resistant
t dati i
2.  Increase~ qﬁthe pogulatmn of e(:wiro?-;er’g:ita ion  in  the
crocudnl:s in rj}vm 2
Gelting trapped in fishing nets 2. They are able to accumulate in

3,
( a @ accidentally humans and animals.

Use of synthetic fertilizers and
other agricultural chemicals
in crop-fields in the vicinity of
rivers .

Select the correct answer using the
code given below.

Select the correct answer using the

code given below. fa) 1 only

fa) 1 and 2 only
(b) 2 and 3 only

(b) 2 only
fc} 1,3 and 4 only fc) Both 1 and 2

(dj 1,2, 3 and 4 (d) Neither 1 nor 2

B-FVS-N-IVUA/S8A 8
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17. Consider the following :

1. Bats

2. Bears
3. Rodents

The phenomenon of hibernation
can be observed in which of the
above kinds of animals?

fa} 1 and 2 only

(b) 2 only

fc) 1,2 and 3

{d) Hibemation cannot, be 6Bsem: \Q

in any of the ahovc

L2003 -

( 8. W!-uch one of the following is
|

the largest Committee of the
Parliament? -

fa) The Committee on Public
Accounts

(b} The Committee on Estimates

{c) The Committee on Public
Undertakings

{d) The Committee on Petitions

B-FVS-N-IVUA/S8A

19. Which of the following adds/add
carbon dioxide to the carbon cycle
on the planet Earth?

1. Volcanic action

2. Respiration

3. Photosynthesis

4. Decay of organic matter

Select the corrcct answer using the
code given below.

{a) 1 and 3 only

(b) 2 only

o
(¢ 1,2 and 4 only \(\
fdg 102 37an @

\?0 _',-ou walk thruugh countryside,

you are likely to sce some birds

stalking alongside the cattle to

seize the insects disturbed by

their movement through grasses.

Which of the following is/are such
bird/birds?

1. Painted Stork
2. Common Myna
3. Black-necked Crane _

Sclect the correct answer using the
code given below.

fa} 1 and 2
(b) 2 only
fc) 2and 3

 {d) 3 only

10.
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2. Wi
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vifferaa 6 oftgen @ Jaw e @
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(a) *= 1 3R 2
(b) ¥&@ 2
¢ 1,233

(d) eRfEha 3w A fwd 3§
T w1 wwd

,@\Q\\q\@\%

ﬁnﬁmi‘iﬂmvﬂmmw
audr wfafy 87

“ﬂ’

\

fa) e Sen wify

(b) e wifd

fc) W IR R

(d) afe wfify (HR o Rfvs)
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21. In medieval India, the designations 24. Which of the following are some

‘Mahattara’ and ‘Pattakila’ were important pollutants released by
used for steel industry in India?

(b) village headmen 2. Oxides of nitrogen

3. Carbon monoxide
4, Carbon dioxide

fc) specialists in Vedic rituals

{d} chiefs of craft guilds

Select the correct answer using the

22. Lichens, which are capable of code given below.

initiating  ecological succession
even on a bare rock, are actually

a) 1, 3 and 4 onl
a symbiotic association of M 2 v

{a} algae and bacteria : (b} 2 and 3 only s
(b} algae and fungi . fc) 1 and 4 0111!!
(¢} bacteria and fungi rd) 1\ (\ and 4
(d) fungi and mosses \
3 25. Whlch of the following Kingdoms
- were associated with the life of the
23. If you travelfthrcugh thc Himalayas, Buddha?
yola are‘{likely to scc “Which of the
followh'lg\;pplants naturally growing 1. Avanti
f\\ th re? 2. Gandhara
\( b 3. Kosala
2. Rhododendron
4. Magadha

3. Sandalwood

Select the correct answer using the

Select the correct answer using the code given below

code given below.

{a) 1 and 2 only {a 1,2 and 3

b} 3 only (b} 2 and 4

{c} 1 and 3 only (¢} 3 and 4 only

{d 1,2and 3 . (d 1,3 and 4
B-FVS-N-IVUA/S8A 12
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21. "R 9Rd § ‘mgw’ ol ‘wgRew’
veam ferdh fore w81 A7
(a) A= Aftml
(b) T g
fc) aRF wiFwe & R
(d) Red AP Swma

22, WA, Wl UF W W Wt RSk
A H AN 0 | agm §, awow d
5 weshiht o €7

{a) e iR ey
(b Yo R FaE
(e} ey 3R T
(d) wa% R 7

R Ry ™ F F oW W oEd I
ghu

fa) ¥ 1 T2
(b) ¥ 3

fc) Fa@ 133
d) 1,233
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\Q\@

13

24, f=fafied § & F¥9-3 3o Tl 9ge=

gﬁmﬁmmmgﬁmm
?

1. TN & AR

2. ARIA & AiwEE

3.  TEA ARIRTERS

4, FEA SRAFERE

R Re ™ g & wn = s W
R

fa) w1, 3 3N 4
(b) F@ 23R 3
() w134
o (d) 2\33&{ m
\%

25. Fafofea v=di & / feam Ty 38 %
ofte & o?

A\

1. &R
2. TR
3. Fww
4. WM

R Rt Mg = W W w w
gl

fa) 1,233
(b} 23R4

{c) %@ 3 afwa
fd) 1,334
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26. Every year, a monthlong ecologically
important campaign/festival is held
during which certain communities/
tribes plant saplings of fruit-bearing
trees. Which of the following are
such communities/tribes?

(a) Bhutia and Lepcha
(b) Gond and Korku
{c) Irula and Toda

(d) Sahariya and Agariya

27. The sales tax you pay while
purchasing a toothpaste is a
fa) tax imposed by the Central
Government

(b} tax imposed by the Central

the State Government
N
L= \
tax imposed b)r\\ thc State
RGovemmcm \but collected by

the Central Government
\ | sl

( "\\ @d}(tax imposed and collected by

Government but collected by \H

()

the State Government

I 28. What does venture capital mean?

{a)] A short-term capital provided
to industries

(6} A long-term start-up capital
provided to new entrepreneurs

(c) Funds provided to industries

at times of incurring losses

(d]

Funds provided for replacement
and renovation of industries

B-FVS-N-IVUA/S8A
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29. The main objective of the 12th
Five-Year Plan is

{a) inclusive growth and poverty
reduction

{b) inclusive and sustainable
growth

fc) sustainable and inclusive
growth to reduce unemployment

(d) faster, sustainable and more
inclusive growth

30. With reference to Balance of

Payments, which of the following
constitutesfconstitute the Current
.'\-\' \l

Account? (\
b Ba!nm:c ol' m\nslblcs

4 \ Spcclal Drawmg Rights

1. Ba.lance of trade
2. Forengn assets\

““Select the correct answer using the
code given below.

(a)
(b)
()
(d}

1 only
2 and 3
1 and 3
1,2 and 4

31. The terms ‘Marginal Standing
Facility Rate’ and ‘Net Demand
and Time Liabilities’, sometimes
appearing in news, are used in
relation to

(a)
(b)
fc)
(d)

banking operations
communication networking
military strategies

supply and demand of agricul-
tural products
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26, Y& af whea fRAfte agwm/wad,
uitftufes &9 A gewqd, TE-W TR
IR Afvrar /=i & 2 ween 38
M F: A w@ ) Pefafe @ @
=1-A W wper /e §7

(a) i 3N S
(b) TS 3R Fg
fc) Toem 3R A
(d) wefan iR smitn

27. frs-w, Pmw ymm om A e
wied o wxa ¢, Preafafee 3 2 B
TER 1 & 27

fa) &% TR T IMRT &

(b) %z w@Er T I frg T
TN 5 wdtd

) TR &R T
AL k;ﬁ\

(d) W @r%m

' QO

28. Sftm ¢sht A w0 arewd R7

(a) gﬁﬁmmwﬁm

R CEE R R
St ST ot

c) Ot B TR /R g e
wd w§ Pt

(@) It ¥ sfrem @ e &
forq sweren wad m§ At
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29, angdl Y9adia I 1 gE X 7 27
(a) wrash fera aiv wlieh =g
(b) wawh @& unvily frem

() ARA=mh w2 ¥ urefa @ garEsh
frem

(d) dam, ucfs @ wE wwEh
fwm

30. YWMA wged & T # Frafofem 4 @
foredt /R ST @ 9 27
1.
2, faeh aftefrt . m
3. Wl F EFeA \
o £
wavarr iy |
\J

R FgeH
ofﬂﬂC n\l\@w\aﬂ WM @ I
(o

-l

ﬁ@\“ (a) =€ 1

M) 23R 3
¢ 133
d 1,234

31, ‘dra wrlt gl ' aw ‘P win sl
wal A @y wfi-wft goEr §
A W ¥ T v s e
fwan e &7

(a) &% F

(b) HAR Yeafdn

e} T3

(d) Fft Tt A off w@ nin
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32. What is/are the facility/facilities

the beneficiaries can get from the
services of Business Correspondent
(Bank Saathi) in branchless areas?

1. It enables the beneficiaries
to draw their subsidies and
social security benefits in their

villages.
2. It cnables the beneficiaries in
the rural areas to make

deposits and withdrawals.

Select the correct answer using the
code given below.

(@) 1 only

(b) 2 only

{c/ Both 1 and 2
(d} Neither 1 nor 2

33. In the context of Indian economy,

\("\

which of the following is/are the
purpose/purposes of

'Slatulor?
Reserve Reqmrcmcnts?

1. To enable the lf:«:m\_1 ”
Y\m cuntrol thc “amount of
advunces the banks can create

e

\
\makc the people’s deposits
w:th banks safe and liquid

To prevent the commercial
banks from making excessive
profits

4. To force the banks 1o have
sufficient vault cash to meet

their day-to-day requirements

Select the correct answer using the
code given below.

fa) 1 only

(b) 1 and 2 only
() 2 and 3 only
(d) 1,2, 3 and 4

B-FVS-N-IVUA/58A

16

34. Recently, a series of uprisings of

people referred to as ‘Arab Spring’
originally started from

{a} Egypt
{b) Lebanon
{c}] Syria

{d) Tunisia

35. Consider the following countries :

1. Denmark

2. Japan

3. Russian Federation

4. United Kingdom

S. United States of America

Which of the__above \\?rc the
members of<the 'Arcti5 Council?

ARYO\)

Qa)\l, %andﬂ
{b) 2, 3 and 4

) 1,4 and 5
(d) 1,3 and 5

36. Consider the following pairs :

Region often Country
in news
. Chechnya Russian
Federation
. Darfur - Mali
. Swat Valley - Iraq

Which of the above pairs is/are
correctly matched?

fa) 1 only

(b} 2 and 3 only
{¢} 1 and 3 only
fd 1,2 and 3
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32, wanka &6 d wEwRe garema 34, 7@ Q.1 @ m-feie JaEen, PR ‘aa

(&% wreft) A Jnefl gm el B fain' F% m, Tew: e 3w QA e g
T
b N Jaai
mmaﬁtmrﬁﬁmmmm i
i - g
2. g ovm & A aooRid B ol (d) Zhfm
TN FE T NE© FA A w= el
" 3 35. Prfafea i w fen Aiftw
M Ry e = W W oah I 1.
ﬂﬁ"ll 2. 9AUHE
(@) ¥ 1 3. i st
(b) Faw 2 4. mm
() 13K 23 5. YRS R i sl
(d) A 13mAA2 mgma%ma m@ﬁamﬁa\%@
wew 87
33. Wl ofemaen & w= d Pefif 123&13 ©(\
# A =m-w/@ ‘wftfis  smita OMC
HEwEMN’ w0 /F T 7 {bJ 2 3
1. ¥ & @, S o il &= @ c! 143“15
mﬁmﬁiaﬁmu@@i ‘\ (d) 1,335
mﬁ'ﬂ\ﬂfﬁﬁll_
2, ,ﬁﬁﬂaﬁmn&é‘laﬁmﬁm 36. fr=fofas gl w fen fift
am'a-
&= I W ' I
\C @ mﬁﬂ H awfts T # amm #
1. S50 ;W S
4. 4% ® f-affm A smEwEe 9 .
R @ A * e, i A = “« W ‘
(dfe ¥0) @A R AT 3 VR ww
3 fg MR W o W w I 3w § ¥ A/ gw W@ g
T B/R?
(a) @ 1 (a) ¥=w 1
(b) Fa@ 132 ' (b) ¥ 233
() @ 2R3 o ¥aa1 33
(d) 1,2 334 d 1,23N3
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38. With

37. With reference to Agni-IV Missile,

which of the following statements
isf/are correct?

1. Itis a surface-to-surface missile.

2. Itis fuelled by liquid propellant
only.

3. It can deliver one-tonne nuclear
warheads about 7500 km away.

Select the correct answer using the
‘code given below.

fa} 1 only

{6) 2 and 3 only
{c) 1 and 3 only
{d) 1,2 and 3

reference to two non-
conventional energy sources called
‘coalbed methane’ and ‘shale gas’,
consider the following statements : \“

1. Coalbed methane isthe pure
methane gas cxtracted\\l’ro
coat seams, whih. shale gas isa

b
‘mixture of prupanc and butane
only that=”can’ be extracted

ag‘/mm fine-grained sedimentary
( rocks.

In India, abundant coalbed
methane sources exist, but so
far no shale gas sources have
been found.

Which of the statements given
above is/are correct?

(a} 1 only

(b} 2 only

{¢) Both 1 and 2
(d) Neither 1 nor 2

B-FVS-N-IVUA/S8A 18

39. With

reference to  ‘Changpa’
community of India, consider the

. following statements :

1. They live mainly in the State of
Uttarakhand.

2. They rear the Pashmina goats
that yield a fine wool,

3. They are kept in the catégory of
Scheduled Tribes.

’

Which of the statements given
above is/are correct?
(a) 1 only

fb) 2 and 3 only

(\o

fcg 3 only

X\

a'
ﬁO%n India, cluster bean (Guar) is

traditionally used as a vegetable
or animal feed, but recently the
cultivation of this has assumed
significance. Which one of the
following statements is correct in
this context?

{a} The oil extracted from seeds is
used in the manufacture of
biodegradable plastics

f6) The gum made from its seeds

is used in the extraction of
shale gas

{c) The leaf extract of this plant
has the properties of anti-
histamines

(d) 1t is a source of high quality
biodiesel
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37. Af-Iv viara F w= it P=fafen s

3§ A FE-w/A wh R/ET

1. 98 UOAd-}-U006 96 AR SW
Tl ST B

2. TA) *ae Fa ARe f % wq i
TR g 2

3, W - TR aRE @
7500 fearl 30 o %% awm
R

N Ry M w = wWm = wd W™
gl

fa) %aw 1

(b) %am 2 3k 3

fc) ¥aa13R3

@ 1,23R3

38. ‘®er-gwk M7 dh 9w W o

\(‘ﬁ\

ﬂﬁtmmaﬂﬁ%mﬁ
Ptz s - fen \\

1. - aﬁ‘?ﬁmaﬁ:ﬁa
'{;a\ﬁﬁaﬁn%aaﬁsﬂa
C ﬁm%%ﬁamﬁmmﬂilﬁt
 Fresfla 6 . wad 3

Q.Wﬁ@ﬂm-mﬂﬁqm

aged 4 §, g o s 9w iw
& dia 7 o my §

I FEl A R PA-w1/d wh {/E
fa) a1

b} ¥ 2

fe) 13 2 2

(d F@1dRTA2

f‘\\
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39. Wa % ‘S’ weE & = A Prafafa

FyAt e fif
1. 2 YeTa: Iwuave T 1§ T §

2, 43 frm @ @ ] I gwd
TR -HIE1 e 2

3. T sl sl A A A

T W R
I &l A @ aE-w /A el /8
{a) F=a 1

(b) Fa| 23R 3

) Fa@3 e (\
Jo ¢

; Q\\

40 m'ﬁm(maﬁa)mmﬁmmﬁ

TSl A Y MR F W F Iw@m fwm
W R, g Tw @ 3 h a3 =
WA oym e R} owm ow=d #
Prafafes 4 4 -1 @ w3 @@l 27

fa) 1 A P ™ AW
da-frfwnin gl & Pmiv &
W B R

®) % 4l 2 Bffa e I e &
Frelor % srges dm &

g ® MM i ot F wr A
sfafteifm qornd S &

{d) mmm%ﬂammm
R
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41. Which of the following ‘have coral
reefs?

1. Andaman and Nicobar Islands
2. Gulf of Kachchh

3. Gulf of Mannar

4. Sunderbans

Select the correct answer using the
code given below,

fa) 1,2 and 3 only
(b} 2 and 4 only
{c) 1 and 3 only
{d 1,2, 3 and 4

42. In India, the problem of soil erosion

is associated with which of the
following?

1. Terrace cultivation °
2. Deforestation p

3. Tropical climate
Se]ect the mrrecf‘answer u@

cod ve
06‘31 \\\‘i:ﬂ"\ﬂ
2,

rw 2 only
(/) 1 and 3 only
fdj 1,2 and 3 %
43. The seasonal reversal of winds is the
typical characteristic of
" fa} Equatorial climate
(b) Mediterranean climate
{c) Monsoon climate

{d] Al of the above climates

B-FVS-N-IVUA/S8A 20

. Harike Wetlands

Keoladeo Ghana
National Park

Kolleru Lake

44. With reference to the cultural history

of India, the term Panchayatan’
refers to

{a) an assembly of village elders
(b) a religious sect '

{c) a style of temple construction
(d] an administrative functionary

45. Consider the following rivers : ~

1. Barak
2. Lohit
3. Subansiri

Which of the above flows/flow
through Arunachal Pradesh?

fa) 1 only

fb) 2 and 3 only \ @
(c) 0! dand 370 nly

d) 11, 2\&;:1&:_3\) %

46. Conmdcr the following pairs :
Wetlands

Confluence of
rivers
: Confluence of

Beas and
Satluj/Sutlej

: Confluence of
Banas and
Chambal

! Confluence of
Musi and
Krishna

Which of the above pairs is/are
correctly matched?

fa) 1 only

(b) 2 and 3 only
{c 1 and 3 only
(d 1,2 and 3
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41, frafofte 4 @ fel yam-fifat € 44, W & uiphw shEm & g

1. orewE ok Reven duag "t 7= Rl fifde e 7

2 v H (a) T % SB-SHI A WA

3. R & g b) s wrer

4. G | (c) wFwEm-deh

N e g w o w® el W ] “wiE St

T a5. iR afed @ e AR

(@) Fw1, 233 §

(b) %3 2 3 4 2. W

(c) Fam 133 3. gaRR

d 1,2 33NR4 e & @ FR-f swEw Ry A B
. g B/8?

42, @ ¥ o smam wwen feines § (a) e 1 \(\

forerdt /e warfm /87 (b) '?qﬁrazatza \q\

1. RwFh @ 'Zram @

2. FATEA G2 ¥x

a. -
—— ‘m‘ur-\ @J.ﬁ\qﬁ-rqutﬁmﬁﬁﬁz

%ﬂﬁqm@mm o IW )
@\Tj e wdfer i & o™

fﬁj QEIE-I a'ﬁt 1. ma“ﬁ‘ﬁ :EITHC@‘( X
( )“&-:aaz WA B W™

d) 1,233 3. o i e s
43, A w1 WMol Isew Rew wed) A

sifrere 37 ;ﬁ?w.ﬁﬂm-m!ﬁm@%a

@ % 3 (a) ¥ae 1

(b) IEETHI ST ) ¥Faw 233

fc) T SerEy fc) w133

(d) I ot swErg (@ 1,233
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47. Which one of the following pairs does 60. The most important strategy for
not form part of the six systems of the conservation of biodiversity
Indian Philosophy? together with traditional human life

is the establishment of
fa) Mimamsa and Vedanta

{a] biosphere reserves
{b) Nyaya and Vaisheshika

(b} botanical gardens
{c) Lokayata and Kapalika

{e) national parks
(d) Sankhya and Yoga

(d) wildlife sanctuaries

48. Consider the following pairs :
S51. Turkey is located between

Hills Region
fa) Black Sea and Caspian Seca

1. Cardamom Hills : Coromandel

Coast (b} Black Sea and Mediterranean

Sea el
2. Kaimur Hills : Konkan Coast 1 \
3. Mahadeo Hills . Central India () 2;3;""5““ and Mediterranean
o

4. Mikir Hills : North-East India "

Which of the above pairs  are

correctly matched? “{#X\@“ §2. What is the correct sequence of
g%

2
e - %ﬂ'} Gulf\\xof‘ﬂqaba and Dead Sea

occurrence of the following cities in
South-East Asia as one proceeds

—faj 1tand 2
\\(—\ |3\§ from south to north?
‘Z(b@\-‘aﬁd\h}&’ 1. Bangkok
(Z\ 2539‘1“14 . Hanoi

2
fd) 2 and 4 3. Jakarta
4. Singapore
et e Conmtntion o s coataon Sleck the sorree s valog s
provisions regarding anti-defection? cadu. ghven Balow.
{(a) Second Schedule {a) 4-2-1-3
(b} Fifth Schedule (b) 3-2-4-1
fc} Eighth Schedule fc) 3-4-1-2
{(d) Tenth Schedule (d) 4-3-2-1
B-FVS-N-IVUA/S58A 22
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47. fefifem gol & } FF-w @y
ageRi W W i 87

(a) viwiEn 3 A=
(b) =M 3R AN

(c) <Fma AR wfes
(d) wiE v gm

48, Frafafan il w fer Hiftg
vyl &
1. ek gfeat © SRhmvea ®=
2. PpwREl  : Feww
3. WRawlE : wavRa
4. B vefe B G
3w it & A FR-2 vl gafe &7
fa) 132

49. | & wRum A Pefafes 8§ @ 99-@

W IggE A I@-ace Ry Ruas
Iy §7

(a) F0 3gash
(b) et g
(c) el srgEsh
(d) <l g
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el
(b) 2 @\ﬁ (,\@

50, ¥a-RRvm & Tu-T@ 7w F WOO™
WM & weaw F fou =@ wgwqd
wrfifa frafafan # } fre o A wre
w0 # fiftw {7

(a) Hanvea frea (Red)
(b) TTEfes U

(c) T I

(d} TSl AERY

51. T fonreh wen f@mm 7
(a) <Ten WK 3N HfeEm aen
(b) mmﬂnwm
(c) F?fﬂ Hlﬁi

o\\ﬂ

52, fim-gef ofirn # 2R A I A e
R f2 Ry w I =1 5@ e 7o
L4

1. &
2.
3. w@mi
4. g

ﬁﬁ!ﬂ%mmmmm
kel

fa) 4-2-1-3
(b) 3-2-4-1
(¢} 3-4-1-2
{d) 4-3-2-1
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63. The scientific view is that the 65. In the Constitution of India,
increase in global -temperature promotion of international peace
should not exceed 2°C above and security is included in the
pre-industrial level. If the global
temperature increases beyond 3 °C
above the pre-industrial level, what
can be its possible impact/impacts
on the world? {b) Directive Principles of State

' Policy

{a} Preamble to the Constitution

1. Terrestrial biosphere tends

loward a net carbon source,
{c) Fundamental Duties

2. Widespread coral mortality will
occur.

3. All the global wetlands will
permanently disappear,

(d) Ninth Schedule

4. Cultivation of cereals will 66. What arc the bencfits nf lmple-
not be possible anywhere in

menting the ‘Intcgrated W3 tcrshtﬂk
the world. Development Programme'?\

Select the correct answer using the l.o Prcvenu:@ofﬁsoll riinoff
code given below.

@) 1 only \W@\“ \ %

.‘bj L and 2 “
fft‘:} ®\md , B 4. Regeneration of natural

vegetation
( fd} 1,2, 3 and 4

54. The national motto of India,
‘Satyameva Jayate' inscribed below
the Emblem of India is taken from

Lmkmg the country's perennial
rwcrs with scasonal rivers

Rainwater  harvesting and
recharge of groundwater table

Select the correct answer using
the code given below.

fa) 1 and 2 only
{a) Katha Upanishad

2, 3 and 4 onl
(b) Chandogya Upanishad ) .

{¢) Aitareya Upanishad (c) 1,3 and 4 only
(d) Mundaka Upanishad @ 1,2, 3and 4
B-FVS-N-IVUA/S8A -
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53. Aghw v ; 2 B fam ammw
qd-3ffis " @ 2°C d It
TgT wiiew ) af e aom @ -
WA 3°CH R ag 7@ ¢, a g w

I GRITE 3 T gm?
1. e flanvsd @ R FEA 9
#H 3R wgw T

2. fage vare wedan aféa gnfi

3. afl yueda s =rft = R
U @ s

4, e 4 2 e G =8 of wE
Er il

M g g & @ W wh IW
T

fa) F=@ 1

(b) e« 1 3 2.
(c) ﬂﬁaz 33l g k,
fdj 1 \§

\CA\Q
54, W@ & oo & R =il v
i ARwIRe mﬂaﬁwﬂ'%ﬁiz?ﬁﬂé
??
(a) &3 3fR
(b) T IeiEg
() a9y

(d) G g
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§5. WA % WU 7 FRigE miw R gan
H >hrafz =1 el 33 &7

(a) GRum i R A
b TR AR e T

(c) =@ we= §

(d) el e #

" T\ L)

1. tgz:%aaaﬁaﬁfmm
2Cé‘m\=ﬁ amm AR @ Hrd

\“ \ e & Srem
\@@ 3. aﬁ-mamamaﬂq-mm

4. nﬁﬁmmﬁfﬂmm

iR e woEm W @ W
g Gl

(a) =@ 1 3R 2
(b) Faa 2, 3 3 4
fc) a1, 334

{d 1,2, 334
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57. Which of the following are associatéd
with Planning’ in India?

1. The Finance Commission
2. The National Development
Council »

3. The Union Ministry of Rural
Development

4. The Union Ministry of Urban
Development

5. The Parliament

Select the correct answer using the
cade given below.

{a) 1, 2 and 5 only
(b)
fc) 2 and 5 only

1, 3 and 4 only

(@ 1,2,3,4and 5

58. Which of the l‘ollowmg w?an: the!
function/functions of the Cab:ﬁet
Sccretanat?

~ \\

1. Preparation ol‘j agenda for

fw\ Cabmeb Mectmgs
(0O

Secrctarml assistance to
Cabinet Committees
3. Allocation of financial

resources to the Ministries

Select the correct answer using the
cade given below.

(a} 1 only

fb) 2 and 3 only
f¢) 1 and 2 only
(d 1,2 and 3

B-FVS-N-IVUA/S8A

$9. Consider the following statements :

A Constitutional Government is one
which

1. places cffective restrictions
on individual liberty in the
interest of State Authority

2. places effective restrictions on
the Authority of the State in
the interest of individual liberty

Which of the statements given
above is/are correct?

fa) 1 only

{b) 2 only

{¢) Both 1 and 2
{d} Neither 1 nor 2

(o] @
! \
60. Whléh 0 th@follaw:ng are the

(dlscremnary powers given to the
\ GOUemor of a State?

1. Sending a report to the
President of India for imposing
the President’s rule

Appointing the Ministers

3. Reserving certain bills passed
by the State Legislature for
consideration of the President
of India

4. Making the rules to conduct
the business of the State
Government

=

Select the correct answer using the
code given below.

fa)
{b)
{c} 2, 3 and 4 only
(d) 1,2, 3 and 4

1 and 2 only
1 and 3 only

26
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57. frefafen # & AR-3 wwa & “Aeen’ @ 59, fr=faftea FuAl W faem iRt ;

=g 87
;A dawfies o 98 R
' 1. @ i awm & fa A =fs B
| % Uﬁ‘?ﬁmm . T T g SRy wd
. 3. wdf ywhor e e 2. W =fs A wrw % fw A T A
4, wd wed fowm daen T W wvEEH) afeey wh §
5 W Irfw Feclt # A FR-w/ w8
gﬁﬂ‘ﬂlﬁﬂmmmm (@) ¥ 1
b) Had
fa) @1, 23S G :
(c) 1 3R 2 3
(b) Fa@ 1, 334
{d) Ad 1A 2 o
fc) @235 @
{d 1,23 43RS | 60. Prefafam ﬁoﬁ\ﬁ @FQM’W &
o L\‘T\Kﬁﬂgiﬁmmqmﬁﬁﬁ%?
, & wgf A, R e
ss. P & A W-md w \’ it
mwa;mafz?ni‘\f (\Ei p :ﬁ?mmm
== i 2. ufE T
1. REEE. dsF & Ry FEgh dawm
@W\&\\\s\f’&g 3. @ furrse T ot shw
*9 it ), i F voofi F REn
ﬁ\ . ]
\C @EQaﬁw:aaﬁﬁnﬁ%%t{aﬁm 3 fore s e
3. el R R s w8 e # Em%mﬁm%%&
R R Mg« own ®w I ' A Ry M I W oM o E I
ﬂﬁ'u.l EF"“E'
(a) & 1 fa) = 1 3R 2
(b) Faw 2 3k 3 (b) Fae 133
fc) Fa= 1 3R 2 fc) =@ 2, 3alta
(d) 1,233 (d 1,2, 334
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61. If the interest rate is decreased in an
cconomy, it will

(a) decrease the consumption
expenditure in the economy

(b) increase the tax collection of
the Government

{c)] increase the investment
expenditure in the economy

(d) increase the total savings in s

the economy

62. Consider the following statements :

1. The President shall make rules
for the more convenient
transaction of the business of
the Government of India, and
for the allocation among
Ministers of the said business.

2. All executive actions of the
Government of India shall be o]
expressed to be taken in the
name of the Pri Minister.

nmc“ n{st @\ﬂ
Which of the statements gwen:.v
above :sfare corTect?|
L~

fa), 1 mlyﬁ

\(‘ aﬂy) 2 nnly

() Both 1 and 2

Which of the statements given
above is/are correct?

(a)
(b)
fc}

- (d)

With

1 only

2 only

Both 1 and 2
Neither 1 nor 2

reference to Neem tree,

consider the following statements :

1.

Neem oil can be used as a
pesticide to control the
proliferation of some species
of insects and mites.

Neem seeds are used in the
manufacture of biofuels an
hospital detergents.

Neem oil haaﬁpphcataons in

cpharmaceutical industry.

@lctl\t\ of \ithe statcments given

above Is/are correct?
=

(a)
(b}
(c)
(d)

1 and 2 only
3 only

1 and 3 only
1,2 and 3

65. Which one of the following is the
process involved in photosynthesis?

(d) Neither 1 nor 2

63. Consider the following statements
regarding a No-Confidence Motion
in India :

1. There is no mention of a

No-Confidence Motion in the
Constitution of India.

2. A Mation of No-Confidence can

be introduced in the Lok Sabha
only.

B-FVS-N-IVUA/S8A 28

(a)

(B)

()

(d)

Potential energy is released to
form fre¢ encrgy

Free energy is converted into
potential energy and stored

Food is oxidized to release
carbon dioxide and water

Oxygen is taken, and carbon
dioxide and water vapour are
given out
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61. 5 avferaen 1§ aR = 6 A =™ I ol § } B-w/R W /A

i ], @ @ fa} *E 1
fa) SisEET # I =g v ) 2
. (c) 1323
(b) WER F F-HIR F) TGN d FR13MmadH2
(o) nésean # Frtm v R s 64, A% & ¥ % wd § B el
(d) e # Fa a=a B TGN foremc Afore
1. o wifa & 2 o whml &
TiEaR # Fafa w0 & R dm
, 62. Pmfife wudl w Rram A : ¥ 3@ W i fAems F w7
fra n wamen 1
1. e, wRa @R @ FE s
qﬁ%'”ﬁﬂimm%m*m mmﬁm‘iwﬁmmi
P g & @
2. W@ WHR # wHE wHEIRE 3.:&:1%5%&05 \m
Ftargai R % am A A gl E
FH it % ¥ wa-w/d wh 2/8
Eﬂmmfzﬂm-w&aﬁtlﬁ@@\g ::j :;mg
(aj ﬁﬁ% @ . fo) ¥aw 13k 3
"'—‘ﬂi’@a 3 d) 1,233 _
{ Q%o 65 P 3 8 4. v .
(@) a@1ImAd2 (o) fuftm ol qw € W sl
Ceni i
weEm S, fRife i i oiefla
63, W@ # sifmw waE & Ry # Aefufm “ Bl 2 ol v @ e B
m“wﬁm= (g R afedwa g wRER
L ww & dRum # R afeem FrR3ETES 3N I g W @
wea F B 3ga T R (d wfem @l st ¥ o wEh
2. ¥R wem baa @ an d @ RS IR SeEm™ A R
g fran sn e R ' &
B-FVS-N-IVUA/S8A _ 29 [ i=. T. 0.
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66. In addition to fingerprint scanning,
which of the following can be used
in the biometric identification of a
person?

1. Iris scanning
3
3I

Retinal scanning
Voice recognition

Select the correct answer using the
code given below.

fa) 1 only
{b) 2 and 3 only
fc) 1 and 3 only

(d) 1,2 and 3

67. Which of the following statements
isfare correct regarding vcgctatlvc
propagation of plants"q\

1. V:getatwek \“ propsgation
proclur:es clonal, pnpulauon

A\ A\ )

/2\ Vegctatwc propagation helps

i’ eliminating the virus.

3. Vegetative propagation can be

practiced most of the year.

Select the correct answer using the
code given below.

fa) 1 only

(b} 2 and 3 only
(o)

(d)

1 and 3 only

1, 2 and 3

B-FVS-N-IVUA/S8A

\g\

30

68. Which of the following pairs is/are
correctly matched?

Spacecraft Purpose

1. Cassini-Huygens : Orbiting the
Venus and
transmitting
data to the

Earth

2, Messenger : Mapping and
investigating |

the Mercury

3. Voyager 1 and 2  : Exploring the
outer solar

system

Select the correct answer usin&the
code piven below,

q\i\

1 and 3 only

fa) 5 1 onl}'
{b} Tz and
()

{d) 1,2 and 3

69. Consider the following pairs :

Region Well-known for
the production of
1. Kinnaur Areca nut
2. Mewat Mango
3. Coromandel Soya bea;i

Which of the above pairs is/are
correctly matched?

fa) 1 and 2 only

fb) 3 only

fc) 1,2 and 3

{d} None
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66. foth =afs & ol e ¥y, imed-
BN FhElEw & oremen, Pefefae |4
FR-/A W@ A FE s owE@ /AN
o g &7

1. uftefem sadiam

2. gfvem wadiem
3. I whEm

MR Ry g & w@W =W @ W
k(e

{a) Faa 1

(b) Faw 2 3N 3
fc) @@ 13k 3
(d 1,233

67. Ffaftm d @ a-w1/8 sv7 ol &

mmaamﬂma/;

1. wifas_ yav FEE,
mﬁﬁm%\t@r{ -
C“\ nadn“ﬁwrﬂaﬂwﬁmwm

\C 7 W

3. s wada ad % e wm &

a6 qHhal 21

MR Ry e &1 wWm = W@ I
P

(a) Faa 1

(b) Fam 23k 3
fe) ¥F== 1 3R 3
(d 1,233
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68, frfofaa ol # @ FR-m/R vl gifem

/e
=i 9= A
1. FRft-vem ;. gm & ool
A AR T H
g % TERol
FE
2. Adwm : U & AR
IR 3=uq
3. Tqden ) 3R 2 : =@ efEr
F1 39
R e ™ g F WM W T IW
Ll o
(@) ¥& 1 \\“
(b) ﬂwazc’amO\(\ o
(c}"aﬁm;ﬂ

\“ \{dj 1, 23ﬂ'(3

69. fF=fafem 7ol W e At
an fradh s &

v s ren 2
1. ek gl
2. WEm™ : R

3. FHUEw ; ARl

e 4 3 Pe-E/A g wh g
j/&

(a) Fae 1 3R 2
(b) ¥=@ 3
e 1,23R3
(d) =t
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‘?iO. Which of the following isfare the

example/examples of chemical

change?

1. Crystallization of sodium
chloride

2. Meclting of ice

3. Souring of milk

Select the correct answer using the
cade given below.

fa) 1 and 2 only
{(b) 3 only
fc) 1,2 and 3
{d) None
71. The power of the Supreme Court of

India to decide disputes between
the Centre and the States falls
writ ]U.l‘lsﬁ!fﬁon

under its
e
o Al

{a) advisory jurisdiction

72, ﬂ“_}i 5thm:- following techniques/

( phenomena :
1.

{b)
(c)

appellate Jurisd:cnon

original Junadlction

Budding and graftmg in fruit
plants

2. Cytoplasmic male sterility
3. Gene silencing

Which of the above isfare used to
create transgenic crops?

fa) 1 only
{b) 2 and 3
e} 1and 3
(d) None

B-FVS-N-IVUA/S8A

’

73. Consider the following statements :

1. Maize can be used for the
production of starch.

2. O0il extracted from maize can
be a feedstock for biodiesel.

3. Alcoholic beverages can be

produced by using maize.

Which of the statements given
above is/are correct?

(a)
{b)

{c/ 2 and 3 only

1 only

1 and 2 only

\\C\

@ong\ tix following organisms,

gﬁich one does not belong to the
class of other three?

(a)
(b)
{c)
(d)

d 1, 2and3

Crab
Mite
Scorpion

Spider

78. The power to increase the number
of judges in the Supreme Court of
India is vested in
(a) the President of India
{b) the Parliament
{c) the Chief Justice of India
(d)

the Law Commission
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70. Fr=fafea 3§ A -7/ TRl ek
/% wwm &/
1. it wngs & freem
2. b ® TR
3. JU IRER

R Ry ™R wowEm W oEl IW
ghul

(a) ¥aw 1 3R 2

{b) e 3

) 1,233

(d) = e

71. 2 3 T F A N @ REEl &=
fola A A v F 3= A" A
wfte frass ar=nfa aed B2

(a) oo srfirmfen & smmia
(b) rdich it % a=ria

(c) qaaﬁmﬁmﬂ:wia“ﬁ’m@

(d} fe aﬁmﬂmbamg

72: ﬁnfeﬁqa\'ﬂa;ﬁﬁjqﬁmaﬁ ® fEw
Cérr .

1. % @ gredl § gFed s g
2. R | T
3. = fiwm

30w § ¥ FR-w/ Teahe el @
R § v g {80 €2

(a) Faa 1
(b} 23R 3
¢ 133
(d) T

B-FVS-N-IVUA/S8A

73. frafefea FwE w fEr fift

1. W W v & e & R s
fm w wm R

2. wa B Prerfla (e da-dea & fog
FERi® B g5 el

3. Ww % WM A Tewieell 39 I9E
e < v 21

I FEl A A FE-9/R 9@ /R
fa) ¥aa 1

(b) ¥ 132

() Fa@ 233

(d) 123ﬁ13 \\“
o\ -

ﬁﬂﬁ'{fﬁa\ﬂﬁm-m@ﬁﬂa 3

el o ot 27

(a) *3i

(b) =

@ Py

(d) wH)

75. M@ & IHGW WA A =i 6

wen # gfa w0 A ufts el Afa §?
(@) ¥WG ¥ TEYfa
(b) wER
(c) A T e =ranfd
(@) fafy amam
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76. Consider the following towns of

India :

1. Bhadrachalam
2. Chanderi

3. Kancheepuram
4. Karnal

Which of the above are famous

for the production of traditional
sarees/fabric?

(@) 1 and 2 only
(b) 2 and 3 only
f¢ 1,2and 3
{d 1,3 and 4

77. Consider the following pairs :

National Cities connected
L Highway

1. NH 4 Chennai and
Hyderabad

2. NH6 Mumbaisand \“
Kolkata \(‘\\@

3. NH 15 *:&hl;nedabad and

f'\‘ Jndhpur

4thch ol‘kthe :alim'sreJ peirs is/are
@ Uectly matched?
\c {a) 1 and 2 only
(b) 3 only
: (¢ 1,2 and 3
' {d) None

78. Consider the following international
agreements :

1. The Intemational Treaty on
Plant Genetic Resources for
Food and Agriculture

2. The United Nations Convention
to Combat Desertification

3. The World Heritage Convention

B-FVS-N-IVUA/SBA g

&

Which of the above has/have a
bearing on the biodiversity?

fa] 1 and 2 only
{b) 3 only

fc) 1 and 3 only
{d 1,2 and 3

79. Consider the following statements
regarding ‘Earth Hour' :

1. It is an initiative of UNEP and
UNESCO.

2. Itis a movement in which the
participants switch ®IT ot
lights for one hour on a‘?:ertﬁis\
dayoevery year;

3. °lt is a n{;{r\cn\ic u? raise the

awarenessgabout the climate
% changc and the need to save
\ the planet,

Which of the statements given
above is/are correct?

{aj 1 and 3 only

{b) 2 only

{c) 2 and 3 only

{d 1,2and 3

80. Which one of the following is the
correct sequence of a food chain?

{a) Diatoms«Cmstaccans-Herrings
(b) Crustaceans-Diatoms-Herrings
{c) Diatoms-Herrings-Crustaceans

(d] Crustaceans-Herrings-Diatoms
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76. WA & Fefafes 7 = BEr fift .

e § ] FF-m/A d9-Rwa

1. WE=EW TR @Al §/TEa €7

2. == (a) Fa= 1 3R 2

3. 3 (b) FaA 3

4 ,

o @ F-w A TR aaw sl

I & o geam 87 d 1,233

oy w1 s gt T’ 3wl 3 R e
79. w1 W

) 2 33 forec g :

) 1,233 1. 98 UNEP @@ UNESCO i

(d 1,3 3¥a I R

77. Frafafan et w fam $iftg
E Tt 3R 3 A

2. ¥ TH A<l B, ﬁraﬁnm
yfaad v fifim R, w o &,

ﬁ‘?ﬁ = =R\ .

qﬁaﬁ#a&tgﬁlﬂ%m
1. NH4 : 39 ok fEr %a&ﬂmaﬁ
2. NH 6 wmw \ﬂ \ mmmaqal
3. NH15 : @wRAR v \ @ I FeEl @ FA-w/A 7@ /8
;‘Eﬁﬁﬁ\mﬁﬁ’"ﬁm (a) ¥ 133
(‘ @;@ﬁnﬂzz o
i - fo) &aw 2 3R 3
€ 1,233 @ 1,23m3
(d)} *x§ 7

80. Fmfafen 4 } ¥R-w @ R f@e =
wdt w1 R0

(a} SREER-FRiTEAR-LG

78. Pefifen srwidls s w fem fiftw
1. @@ @ FR [P MU gEles

wEEl % fawa #§ srwwivig wf (b FRAME-srE-dn
2. WS W AWM A R €IG T _
Hfam fc) SERA-RI-FRAET

3. Ra Ruma fimm (d) FRRTEE-WT-s™men
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81. The Partition of Bengal made by 83. With reference to -the "famous
Lord Curzon in 1905 lasted until Sattriya dance, consider the

following statements :

(a) the First World War when 1. Sattriya is a combination of
Indian troops were needed by music, dance and drama.
the British and the partition
was ended 2. It is a centuries-old living
tradition of Vaishnavites of
Assam.
(b} King George V abrogated
Curzon’s Act at the Royal 3. It is based on classical Ragas
Durbar in Delhi in 1911 and Talas of devotional songs
composed by Tulsidas, Kabir

nd Mirabai.
(c) Gandhiji launched his Civil i -

Disobedience Movement
Which of the statements given

o [ ]
(d) the Partition of India in 1947 wamne I/ ar correst: (\
when East Bengal became East

Pakistan (\
(a}\l only @

(o]

\ =B 1 and 2 only
82. The 1929 Session of lndmn Nationa.!\

Congress is of sugniﬁeence :n\the; {c) 2 and 3 only
hlsmryf\of the-Frecdom\Movcment

bacauae the LA (@ 1,2and3
( @ attmnment of Self-Government
was declared as the objective of .
the Congress 84. Chaitra 1 of the national calendar
based on the Saka Era corresponds
| to which one of the following dates
: (b) attainment of Poorna Swaraj of the Gregorian calendar in a
was adopted as the goal of the normal year of 365 days?
Congress

(a) 22nd March (or 21st March)
(c) Non-Cooperation Movement

was launched X (b) 15th May (or 16th May)
(d) decision to participate in the () 31st March (of 30th March)
Round Table Conference in
London was taken (d) 21st April or 20th April)
B-FVS-N-IVUA/58A 36
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81. 1905 # ¢ i g frm @ &

83, frem whim ym & w=y i Frafafa

RANR Fa 1% a9 @I FeA T RER Hift
1, witm, wita, 3@ aw sfirm @
(o) WM fegg o, Red o0€ B wfdm
ey Afet 6 sravasa 9 i . '
S B Ly

(b} WERE S yem gw g i 1011 &
W TEr # w9 & fufam @

3, Uy gowlem, @it ol wfiard g
Wm wfk-fal & weflm Wil qu

et PG|
e Al R i@
IR FoAl A BA-w/A T @ /8
(¢} werem wift gra wom Wl eEm
ITRENTH M T T (a) ¥aw 1 -
(d} W@ & 1947 # gy fiem T, T (b} ¥ 1,3 2 \(\ i \\“
peibu ol ciicos ek “’\\ &(@ .
°\;¢’5%ﬁ%2 3
“‘ﬁf\('\\@ (d 1,233
82. mm@g gﬁzjm\“q@m
am‘m aﬂ\ng :qﬂﬁq‘m ey
aﬂ’tﬁ'ﬁ st

(QC"

84, 7% Haq W uiw Wi d=im (=)

1 ' w1 1 ¥, miem $st w snuifa 365
e Tk o R & wra i A P Rk
A v @@ & wegew A7
(b) FHE & a8 ¥ I w ol @ (a) 22w (3 21 W)
Wit it wiwa B ™ '
' (b) 15 w§ (areran 16 )
() STEEN =T B I gan
) 31WE (39 30 wrd)
(d} &= A e A weem § wrierd
w0 = fofe R mn (d) 21 38 (3 20 i)
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85. With reference to the Indian history 87. With reference to India’s culture and

of art and culture, consider the tradition, what is ‘Kalaripayattu’?
following pairs :
Famous work of Site {a) It is an ancient Bhakti cult
sculpture of Shaivism still prevalent in
1. A grand image : Ajanta some parts of South India
of Buddha’s '
Mahaparinirvana

(b) It is an ancient style bronze

with numerous and brasswork still found in

celestial musicians

above and the southern part of Coromandel
sorrowful figures of h
his followers below
2. A huge image of : Mount Abu () 1t is an ancient form of
Varaha Avatar {boar dance-drama and a living
incarnation) of tradition in the northern part
Vishnu, as he of Malabar
rescues Goddess ° q
Earth from the dee
and chaotic wate:s,p . {d) Itisan anmen}_\ r{uamal E\rt and
sculpted on rock a living uiadlnon\:ln some parts
3. “Arjuna’s Penance”/ : Mamallapuram of somh\‘l‘jh
“Descent of Ganga”
sculpted on the
surface of huge
bouldersu € \ \“ 88. Consider the following pairs :
Which oi‘ the pﬂlfﬁ“ given ‘above 1. Garba :  Gujarat
rs/are‘icomctly,matched?
la) (‘“and 2335;’ 2. Mohiniattam  : Odisha
fb) 3\or:hy

3. Yakshagana : Karnataka
(c} 1 and 3 only
({d 1,2 and 3 : :
Which of the pairs given above
86. The Ghadr (Ghadar) was a is/are correctly matched?
(a) revolutionary association of
Indians with headquarters at
San Francisco

(b) nationalist organization operat- s
ing from Singapore

¢} militant organization with ] 3 and 3 osly
headquarters at Berlin

(d] communist movement for f) 1 and 3 only
India’s freedom with head-
quarters at Tashkent (d 1,2 and 3
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85. WA #H w@ a "l & Wem F Wy
7 frafafte gmi @ fmm Fift :

Rrerma gfifreg L5

1. RFmweifEm  : aE=m
# T v wfom
Rt Ia ) 3k
vt ¥ writag
au AT & i
& gdi e
<9I e &

2. TR W IhN ey T o
F TR IFan
faame vfem e
% T gl |
TR fagew T A
Jand g Y §

3. fawma iens w
I8N “arfa B
agen’’ /- s’

/&

.'a; ml-"ﬂtE@\ﬂ

\\ @alaﬂts

{ @

(d) 1,233

A

86. T F M UI?
(a) ¥t 1 & wfw W, R
U FEie 4 Wi §
) @& TgEE @i, s g @
Harfem g o
() T IW@A W, Rew R
Fraiera afelr # o

(d) Wa R Tasw & R @ i
=iem, fmw wum el
o o o

B-FVS-N-IVUA/58A a9

'mﬁmwﬂﬂaﬁqmﬁmﬂm@\ﬂ \

BT.W%ﬁmqﬁm%mﬁﬁ

‘FERITag w0

(a) @ MEMa w yEE A g R R
3ft oft 2w e & Fo el
e R

T R AR figa F Fm A w
e el @ S il ff Frimeza
&7 o fiof e 1 o st 2

(b)

T{® TA-TRH & & WHHE w2
I AR ¥ A0 feR A w
fie o @

c)

3. TFTMH

e gl § A PR/ v g
/e

fa) F=a 1
) FR23R3 .
fc) ¥Fa 133

{d. 1,233
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]
89. With reference to Buddhist history,

tradition and culture in

India,

consider the following pairs :

Famous shrine

1. Tabo monastery 2
and temple complex

2. Lhotsava Lhakhang
temple, Nako

wa

3. Alchi temple .
complex

Location

Spiti Valley

Zanskar Valley

Ladakh

Which of the pairs given above
is/are correctly matched?

(@) 1 only
{b) 2 and 3 only
fc} 1 and 3 only

fd 1,2and 3

"

90. Conslder\ the t'nllo\}&

1\

b\@@\“ \3

ng statements ;

ﬁt

'Bua.k' is a compositmn of the

? f\\ @ teachings of Saint Dadu Dayal.
( @ 2. The

Philosophy
was propounded by
Madhvacharya.

Marg

of Pushti

Which of the statements given
above is/are correct?

fa) 1 only
b} 2 only

{c¢) Both 1 and 2

(d)] Neither 1 nor 2

B-FVS-N-IVUA/S8A

A community of people called
Manganiyars is well-known for their

{a) martial arts in North-East

India

~(b) musical tradition in Nortfu-Wcst

India

(c) classical vocal music in South
India

(d) pictra dura tradition in Central
India

92. What was/were the object/objects

of Queen Victoria’s Proclamation
(1858)?

1. To disclaim any intention to
annex Indian States ©

2. To place the Indian adrmma\tra-
tion under the Bnush ‘Crown

W
3.% % r'ergulate East India
Companys trade with India

Select the correct answer using the
“code given below.

fa) 1 and 2 only
(b} 2 only

{¢) 1 and 3 only
(d) 1,2 and 3

93. Ibadat Khana at Fatehpur Sikri was

{(a) the mosque for the use of Royal
Family

(b) Akbar's
chamber

(¢} the hall in which Akbar held
discussions with scholars of
various religions

private prayer

{(d) the room in which the nobles
belonging to different religions
gathered to discuss religious
affairs
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89, W@ # g hwre, sow o TR &

91. HMPAR & WM | W WA Sen ol W

wary # Peffea gt w fer At L it
|
(a) gm%mmmﬁ%
1. z@ﬂasﬂtqﬁt : wfify wréd (b) wiERR wra A 3 wfte oo &
g fore fremma @
2. HeEE T AR, : SRR g (c) i&w ywa # s e TRA w@ i
£ % fo frem &
5. el . (d) 71 va # TS T § R
- _ﬁwa%
© e Tt % A P-m/A T iR 92. WewHl fawdfa i IgEion (1858) W
r/R? R w7 w?
1. wieha v W fBRw wmgm #
(@ ¥ 1 ﬁaﬁ%ﬁmmﬁaﬁmﬂw“
(b) ¥ 2 3k 3 b ﬁ\(\
2
(c) Fae13R3 o “.4 \\“’)’)
Jﬂ%m?&ﬁmm%
(d) 1,233 “""X\@\“ SR F1 A Fon
= R w T WA W W@ TN
\\ f\\D\ ] ¥
3\
ﬁ\@‘ﬁ&s mmmﬂamﬂm ol "N
\C @ Ay (b} Faw 2
2. g Wi ¥ wh R mawd 3 () ¥ 133
whaRa fEam (d 1,233
g w8 } Fr-a/a wd 387 93. HiER Wl F TaRTE w4 917
fa) Faw 1 (a) T iR F 3w & fog ofe
(b} R T Pl e =y
w2
®) () @ v P G el % Rl 3
(© 1323 Y IFE T = A

(d) aM13mIA2
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(d) & Fwa frad fafim of 9@ gei=-
S wife 9wl & faamrd s gh 2
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94. In the context of food and nutritional Select the correct answer using the
security of India, enhancing the code given below.
‘Seed Replacement Rates’ of various
crops helps in achieving the food

production targets of the future. {a) 1 only
But what is/are the constraint/

constraints in its wider/greater (b} 2 only
implementation?

1. There is no National Seeds

Policy in place. (¢} Both 1 and 2

2. There is no participation of
private sector seed companies (d) Neither 1 nor 2
in the supply of quality seeds
of vegetables and planting
materials of horticultural

crops. 96. Consider the following statements :
3. There is a demand-supply gap © .
regarding quality seeds in case 1. Animal Welfare Bﬂﬁfd of
of low value and high volume lncha is estahhshed under the
crops. ° Env:ronment (Prutect:on} Act,

1986 \ ) b
Select the correct answer using the |

cade given below. .2 National Tiger Conservation

“ \ Authority is a statutory body.
fa) 1 and 2

; k National Ganga River Basin
\\{ Authority is chaired by the

“Te) _Prime Minister.
( f\ Gd} None

95. With reference to ‘Eco-Sensitive
Zones’, which of the following
statements is/are correct?

Which of the statements given
above is/are correct?

1. Eco-Sensitive Zones are the
areas that are declared under
the Wildlife (Protection) Act,
1972. (b) 2 and 3 only

2. The purpose of the declaration
of Eco-Sensitive Zones is to

fa) 1 only

prohibit all kinds of human () 2 only
activities in those zones except
sgriculture. (d 1,2 and3
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94, W@ A @@ W v g & g
fifim woalt R ‘49 shree @ @)
TR ¥ wRm & @ Iar asl @
W R §owr freet ¥ feg T
MuFa wR/fwm FEl=m § @
aneaa § /e §7

1. & e e A i

2. et &1 R dm TP A,
TE-FR wEE f Jow amidl
n wfRml & AR A€l A
o # *¥ wewPran i 4

3. = yR w = aiwm aweh waet
& R #§ e 9 el &
nin-gfd s R4

ﬂ%ﬁqummmmm
kG

fa) 132

95. ‘wMfdifis-ddd &' & wf @
Fefala # ¥ S-w/@ am v {8
1. uftffs-wad 4% 3 4= §, frd

Tgsit (W) afefm, 1972 %
i it e mn R

2. wifRRS-3d & /) 9ftm =
T e R, R 4 A daw FR R
g Bft wia Brnell w afyeg
Guici
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™ Re ™ F @ wim ®oad Iw
gh)

fa) =1
(b) FaEw 2
{c 1 3x 234

(d adi1alRad2

ST ol A R He-m/A w4/
() ¥a= 1

(b) w233

(c) ¥ 2

(d 1,233
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x

97. Consider the following pairs : 99. Which of the following organizations
brings out the publication known

Vitamin Deficiency disease as ‘World Economic Outlook?
1. Vitamin C i Scurvy
2. Vitamin D : Rickets fa) The International Monetary
Fund
3. Vitamin E :  Night blindness
{b) The United Nations
Which of the pairs given above Development Programme

isfare correctly matched?

{¢) The World Economic Forum
{a) 1 and 2 only

(b} 3 only (d) The World Bank
() 1,2 and 3 .
(d) None 100. With reference to Union hudg(:t\\

which of the “foilowmg \_;s[are
covcred 1 (Cnder\ © Non-Plan
?

98. There is some concern regarding Expendlturc
the nanoparticles of some chemical
elements that are used by th \‘J‘ \ Dcl’em:c expenditure
industry in the manufncmre
various products WhyD\ \ 2. Interest payments
1. ‘l‘hcyf‘mm;accumulalc in the 3. Salaries and pensions

enwrontnent" a.nd contaminate

(, ﬂ water and soil. 4. Subsidies

2. They can enter the food chains.

- ————

3. They can trigger the production Select the correct answer using the
of free radicals. cade given below.

Select the correct answer using the
code given below.

(a) 1 only
(2) 1 and 2 only (b} 2 and 3 only
(b) 3 only
c) 1,2, 3 and
fc) 1 and 3 only " ==

{d 1,2 and 3 (d) None
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97. fFfufem guil w faew Hiftw
Rt yaehl diw @

R L
1. Refmc @l
2. R b g
3. fafmE ufy alwa
T 4§ FR-a/R T oad gifm
/&
(a) ew 1 3R 2
(b) ¥ 3
[ 1,233
(d) i

98. it el & R # Sdm 2, T

mm@mmmm@&ﬂ@\“ b

aﬁigﬁﬁm%laﬁ?\

1. %whmﬁaﬁa@ T § T I

S ot w2
( ?)\qu@maﬁﬁ?ﬁvﬁﬂ;ﬁ%l

3. 3 % qEe F IO w5 RAfa
W TR B

ﬂ%ﬁqmaﬁzmm'ﬁmm
Thl

fa) ¥aa 13k 2
(b) & 3

fc) F=w 133
(d 1,233
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99, PAnfafaa 4 3 h-w A

‘Twd
TRRINE FHCGF S THIA TR
el 37

(a} F=igH R F
(b) W g T s
(0 faa s v

d) famds

R R o W oW W e IW
E R

fa) &aw 1
(b) Faa 2 33
fc) 1,2,33&4-

(d) =
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3. @ wiaw g w Wy d Ry T AeE § e y ¢
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(’ gz}{\mmhﬂ‘a; 37w wm §
777 R B W han gt & Rfm i * T-9FE T IfF A OE W, R
m-ﬁﬂ:miﬁaaﬁzﬂ%m@mmﬂﬁaii » w
8. 39 I Tl T A IN-TF § WA F AR T 0N F T W A Iw-g7s adigs B g 3
WTH A Y e g A R ol )
9. 72 FIm & fav = ghem g & o A dem £
10. wem It % fore que .
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(i) 7 & fire o e s §1 Infivan 7w wds wa ¥ R Re m w Tew 3w d R v

Eﬂgqmdﬁmm-ﬁsﬁm%mﬁmml i
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